



Vendor Ranking

**Letting:** 01260219 February 19, 2026 11:00 AM **Call Order:** 004 **Contract:** E1Y36-R0  
**District:** District 1 **Counties:** DESOTO, DIST/ST-WIDE, **Fed Aid No:** N/A  
**Contract Time:** 365 CALENDAR DAYS **Project(s):** 43792917293 (\*)  
**Contract Desc:** Guardrail Repair  
GLADES, HARDEE,  
HENDRY, HIGHLANDS

Rank	Vendor	Bid Type	Bid Status	Total Bid	Percent Of Low Bid
1	FLORIDA ROADWAY GUARDRAIL & SIG	Responsive	Winning bid	\$196,955.12	100.00%
2	SOUTHEAST HIGHWAY GUARDRAIL & ATTENUATORS, LLC	Responsive	Non-Winning Bid	\$324,435.65	164.73%
3	GRADING & BUSH HOG SERVICES IN	Responsive	Non-Winning Bid	\$481,551.98	244.50%
4	C. SLAGTER CONSTRUCTION, INC.	Responsive	Non-Winning Bid	\$570,800.40	289.81%
5	ROMSTECH SERVICES LLC	Responsive	Non-Winning Bid	\$612,155.00	310.81%

*NOTE: Failure to file a protest within the time prescribed in section 120.57(3), Florida Statutes, or failure to post the bond or other security required by law within the time allowed for filing a bond shall constitute a waiver of proceedings under chapter 120, Florida Statutes.*



Tabulation of Bids

**Letting:** 01260219 February 19, 2026  
**District:** District 1  
**Contract Time:** 365 CALENDAR DAYS  
**Contract Descr:** Guardrail Repair  
 The work under this Contract consists of Guardrail Repair.

**Call Order:** 004  
**Counties:** DESOTO, DIST/ST-WIDE, GLADES, HARDEE, HENDRY, HIGHLANDS

**Contract:** E1Y36-R0  
**Fed Aid No:** N/A  
**Project(s):** 43792917293 (\*)

Line No / Item ID Item Description ( ) indicates item is bid as Lump Sum	Alternate	Quantity Units	(1) FLORIDA ROADWAY GUARDRAIL & SIG		(2) SOUTHEAST HIGHWAY GUARDRAIL & ATTENUATORS, LLC		(3) GRADING & BUSH HOG SERVICES IN	
			Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
<b>SECTION: 0001 (ASPHALT REPAIR (MANUAL) (TN)</b>								
0005 0339 1 MISCELLANEOUS ASPHALT PAVEMENT		30.000 TN	250.00000	7,500.00	150.00000	4,500.00	200.00000	6,000.00
0010 0515 2311 PEDESTRIAN/ BICYCLE RAILING, ALUMINUM ONLY,42" TYPE 1		50.000 LF	110.00000	5,500.00	130.00000	6,500.00	125.00000	6,250.00
0015 0536 7 1 SPECIAL GUARDRAIL POST- DEEP POST FOR SLOPE BREAK CONDITION- TIMBER OR STEEL		50.000 EA	150.00000	7,500.00	200.00000	10,000.00	175.00000	8,750.00
0020 0536 7 3 SPECIAL GUARDRAIL POST- ENCASED POST FOR SHALLOW MOUNT		5.000 EA	10.00000	50.00	75.00000	375.00	0.01000	0.05
0025 0536 85 20 GUARDRAIL END TREATMENT- TRAILING ANCHORAGE		10.000 EA	1,350.00000	13,500.00	1,250.00000	12,500.00	1,200.00000	12,000.00
0030 0536 85 24 GUARDRAIL END TREATMENT- PARALLEL APPROACH TERMINAL		10.000 EA	3,900.00000	39,000.00	2,500.00000	25,000.00	3,500.00000	35,000.00
0035 0536 85 26 GUARDRAIL END TREATMENT- TYPE CRT		10.000 EA	300.00000	3,000.00	1,900.00000	19,000.00	100.00000	1,000.00



Tabulation of Bids

Letting: 01260219 February 19, 2026 Call Order: 004 Contract: E1Y36-R0

Line No / Item ID Item Description ( ) indicates item is bid as Lump Sum	Alternate	Quantity Units	(1) FLORIDA ROADWAY GUARDRAIL & SIG		(2) SOUTHEAST HIGHWAY GUARDRAIL & ATTENUATORS, LLC		(3) GRADING & BUSH HOG SERVICES IN	
			Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
<b>SECTION: 0001 (ASPHALT REPAIR (MANUAL) (TN)</b>								
0040 0544 3 1 CRASH CUSHION, TL-3, NARROW		2.000 EA	2,500.00000	5,000.00	5,000.00000	10,000.00	20,000.00000	40,000.00
0045 0544 3 2 CRASH CUSHION, TL-3, WIDE		2.000 EA	2,500.00000	5,000.00	7,000.00000	14,000.00	25,000.00000	50,000.00
0050 E536 3141 GUARDRAIL STANDARD PANEL (REPLACE) (SHOP BENT)		50.000 LF	30.00000	1,500.00	22.00000	1,100.00	10.00000	500.00
0055 E536 3142 GUARDRAIL STANDARD PANEL (REPLACE) (0' - 50')		1,200.000 LF	17.50000	21,000.00	14.00000	16,800.00	40.00000	48,000.00
0060 E536 3143 GUARDRAIL STANDARD PANEL (REPLACE) (51' - 200')		1,000.000 LF	17.50000	17,500.00	14.00000	14,000.00	35.00000	35,000.00
0065 E536 3144 GUARDRAIL STANDARD PANEL (REPLACE) (> 200')		700.000 LF	11.50000	8,050.00	14.00000	9,800.00	24.00000	16,800.00
0070 E536 3242 GUARDRAIL THRIE BEAM (REPLACE) (0' - 50')		25.000 LF	16.50000	412.50	25.00000	625.00	40.00000	1,000.00
0075 E536 5 3 THRIE BEAM (TRANSITION SECTION)		5.000 EA	250.00000	1,250.00	200.00000	1,000.00	0.01000	0.05
0080 E536 6 48 END ANCHORAGE ASSEM (REPLACE) (TYPE SRT-350)		5.000 EA	1.00000	5.00	1,500.00000	7,500.00	0.01000	0.05



Tabulation of Bids

Letting: 01260219 February 19, 2026 Call Order: 004 Contract: E1Y36-R0

Line No / Item ID Item Description ( ) indicates item is bid as Lump Sum	Alternate	Quantity Units	(1) FLORIDA ROADWAY GUARDRAIL & SIG		(2) SOUTHEAST HIGHWAY GUARDRAIL & ATTENUATORS, LLC		(3) GRADING & BUSH HOG SERVICES IN	
			Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
<b>SECTION: 0001 (ASPHALT REPAIR (MANUAL) (TN)</b>								
0085 E536 6414 END ANCHORAGE ASSEM (REPLACE) (TYPE SRT-350/8)		5.000 EA	1.00000	5.00	1,500.00000	7,500.00	2,800.00000	14,000.00
0090 E536 6423 GUARDRAIL END TREATMENT-FLARED APPROACH TERMINAL, REPLACE, NCHRP 350		10.000 EA	1.00000	10.00	1,750.00000	17,500.00	3,000.00000	30,000.00
0095 E536 6424 END ANCHORAGE ASSEM (REPLACE) (PARALLEL)		10.000 EA	1.00000	10.00	2,500.00000	25,000.00	3,500.00000	35,000.00
0100 E536 6425 GUARDRAIL END TREATMENT-FLARED APPROACH TERMINAL, REPLACE, MASH		10.000 EA	1.00000	10.00	2,500.00000	25,000.00	3,500.00000	35,000.00
0105 E536 12605 GUARDRAIL REPAIRS (REPLACE) (STEEL POST IN ASPH.)		200.000 EA	85.00000	17,000.00	90.00000	18,000.00	70.00000	14,000.00
0110 E536 12606 GUARDRAIL REPAIRS (REPLACE) (STEEL POST IN SOIL)		200.000 EA	50.00000	10,000.00	60.00000	12,000.00	25.00000	5,000.00
0115 E536 12608 GUARDRAIL REPAIRS (REPLACE) (WOOD POST IN ASPH.)		200.000 EA	12.50000	2,500.00	75.00000	15,000.00	100.00000	20,000.00
0120 E536 12609 GUARDRAIL REPAIRS (REPLACE) (WOOD POST IN SOIL)		200.000 EA	12.50000	2,500.00	40.00000	8,000.00	35.00000	7,000.00



Tabulation of Bids

Letting: 01260219 February 19, 2026 Call Order: 004 Contract: E1Y36-R0

Line No / Item ID Item Description ( ) indicates item is bid as Lump Sum	Alternate	Quantity Units	(1) FLORIDA ROADWAY GUARDRAIL & SIG		(2) SOUTHEAST HIGHWAY GUARDRAIL & ATTENUATORS, LLC		(3) GRADING & BUSH HOG SERVICES IN	
			Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
<b>SECTION: 0001 (ASPHALT REPAIR (MANUAL) (TN)</b>								
0125 E536 12615 GUARDRAIL REPAIRS (REPLACE) (FILLER BLOCKS)		100.000 EA	30.00000	3,000.00	20.00000	2,000.00	50.00000	5,000.00
0130 E536 15 MISCELLANEOUS GUARDRAIL MAINTENANCE		500.000 LF	0.50000	250.00	5.00000	2,500.00	4.00000	2,000.00
0135 E536 21501 END ANCHORAGE ASSEMBLY FLEAT SP, FURNISH & INSTALL, FIRST POST UPPER		5.000 EA	0.01000	0.05	150.00000	750.00	250.00000	1,250.00
0140 E536 21502 END ANCHORAGE ASSEMBLY FLEAT SP, FURNISH & INSTALL, FIRST POST LOWER		5.000 EA	0.01000	0.05	250.00000	1,250.00	0.01000	0.05
0145 E536 21503 END ANCHORAGE ASSEMBLY FLEAT SP, FURNISH & INSTALL, SECOND POST UPPER		5.000 EA	0.01000	0.05	75.00000	375.00	250.00000	1,250.00
0150 E536 21504 END ANCHORAGE ASSEMBLY FLEAT SP, FURNISH & INSTALL, SECOND POST LOWER		5.000 EA	0.01000	0.05	75.00000	375.00	0.01000	0.05
0155 E536302505 END ANCHOR ASSEM TYPE IV (REPL CABLE ASSEMBLY)		5.000 EA	0.01000	0.05	0.01000	0.05	0.01000	0.05
0160 E536302506 END ANCHOR ASSEM TYPE IV (REPL STEEL TUBE & POST)		5.000 EA	0.01000	0.05	0.01000	0.05	0.01000	0.05



Tabulation of Bids

Letting: 01260219 February 19, 2026 Call Order: 004 Contract: E1Y36-R0

Line No / Item ID Item Description ( ) indicates item is bid as Lump Sum	Alternate	Quantity Units	(1) FLORIDA ROADWAY GUARDRAIL & SIG		(2) SOUTHEAST HIGHWAY GUARDRAIL & ATTENUATORS, LLC		(3) GRADING & BUSH HOG SERVICES IN	
			Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
<b>SECTION: 0001 (ASPHALT REPAIR (MANUAL) (TN)</b>								
0165 E536302508 END ANCHOR ASSEM TYPE IV (REPL TIMBER BREAK POST)		5.000 EA	0.01000	0.05	0.01000	0.05	0.01000	0.05
0170 E536303503 END ANCHOR ASSEM CRT (REPL BUFFER END SECTION)		5.000 EA	300.00000	1,500.00	250.00000	1,250.00	0.01000	0.05
0175 E536303508 END ANCHOR ASSEM CRT (REPL TIMBER BREAK POST)		5.000 EA	100.00000	500.00	50.00000	250.00	60.00000	300.00
0180 E536308501 END ANCHOR ASSEM SRT-350 (REPL CABLE ASSEMBLY)		5.000 EA	0.01000	0.05	0.01000	0.05	0.01000	0.05
0185 E536308504 END ANCHOR ASSEM SRT-350 (REPL BEARING PLATE)		20.000 EA	0.01000	0.20	0.01000	0.20	0.01000	0.20
0190 E536308507 END ANCHOR ASSEM SRT-350 (REPL BUFFER END SECT)		20.000 EA	0.01000	0.20	0.01000	0.20	0.01000	0.20
0195 E536308511 END ANCHOR ASSEM SRT-350 (REPL GUARDRAIL BEAM)		20.000 EA	0.01000	0.20	0.01000	0.20	0.01000	0.20
0200 E536308514 END ANCHOR ASSEM SRT-350 (REPL SLOT GUARD)		20.000 EA	0.00100	0.02	0.01000	0.20	0.01000	0.20
0205 E536308517 END ANCHOR ASSEM SRT-350 (REPL BRK TRM POST SLV)		5.000 EA	0.01000	0.05	0.01000	0.05	0.01000	0.05



Tabulation of Bids

Letting: 01260219 February 19, 2026 Call Order: 004 Contract: E1Y36-R0

Line No / Item ID Item Description ( ) indicates item is bid as Lump Sum	Alternate	Quantity Units	(1) FLORIDA ROADWAY GUARDRAIL & SIG		(2) SOUTHEAST HIGHWAY GUARDRAIL & ATTENUATORS, LLC		(3) GRADING & BUSH HOG SERVICES IN	
			Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
<b>SECTION: 0001 (ASPHALT REPAIR (MANUAL) (TN)</b>								
0210 E536313508 END ANCHOR ASSEMBLY SKT-350 (REPL GUARDRAIL BEAM)		5.000 EA	300.00000	1,500.00	500.00000	2,500.00	500.00000	2,500.00
0215 E536313509 END ANCHOR ASSEMBLY SKT-350 (REPL MISC HARDWARE)		10.000 EA	0.01000	0.10	0.01000	0.10	0.01000	0.10
0220 E536313514 END ANCHOR ASSEMBLY SKT-350 (REPL IMPACT HEAD)		10.000 EA	1,200.00000	12,000.00	1,000.00000	10,000.00	1,400.00000	14,000.00
0225 E536314501 END ANCHOR ASSEM SRT-350/8 (REPL CABLE ASSEMBLY)		10.000 EA	0.01000	0.10	0.01000	0.10	0.01000	0.10
0230 E536314504 END ANCHOR ASSEM SRT-350/8 (REPL BEARING PLATE)		10.000 EA	0.01000	0.10	0.01000	0.10	0.01000	0.10
0235 E536314505 END ANCHOR ASSEM SRT-350/8 (REPL TIMBER BRK POST)		10.000 EA	0.01000	0.10	75.00000	750.00	150.00000	1,500.00
0240 E536316501 END ANCHOR ASSEMBLY FLEAT-350 (REPL TMBER BRKWAY POST)		5.000 EA	0.01000	0.05	150.00000	750.00	150.00000	750.00
0245 E536316503 END ANCHOR ASSEMBLY FLEAT-350 (REPL CABLE ANCHOR ASSY)		5.000 EA	0.01000	0.05	0.01000	0.05	0.01000	0.05
0250 E536316504 END ANCHOR ASSEMBLY FLEAT-350 (REPL GROUND STRUT)		5.000 EA	0.01000	0.05	0.01000	0.05	0.01000	0.05



Tabulation of Bids

Letting: 01260219 February 19, 2026 Call Order: 004 Contract: E1Y36-R0

Line No / Item ID Item Description ( ) indicates item is bid as Lump Sum	Alternate	Quantity Units	(1) FLORIDA ROADWAY GUARDRAIL & SIG		(2) SOUTHEAST HIGHWAY GUARDRAIL & ATTENUATORS, LLC		(3) GRADING & BUSH HOG SERVICES IN	
			Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
<b>SECTION: 0001 (ASPHALT REPAIR (MANUAL) (TN)</b>								
0255 E536316505 END ANCHOR ASSEMBLY FLEAT-350 (REPL BEARING PLATE)		10.000 EA	0.01000	0.10	0.01000	0.10	0.01000	0.10
0260 E536316509 END ANCHOR ASSEMBLY FLEAT-350 (REPL MISC HARDWARE)		10.000 EA	0.01000	0.10	0.01000	0.10	0.01000	0.10
0265 E536316514 END ANCHOR ASSEMBLY FLEAT-350 (REPL IMPACT HEAD)		5.000 EA	0.01000	0.05	1,250.00000	6,250.00	1,200.00000	6,000.00
0270 E536322501 END ANCHOR ASSEM FLARED (REPL FLARED END SECT)		5.000 EA	0.01000	0.05	40.00000	200.00	60.00000	300.00
0275 E536322502 END ANCHOR ASSEM FLARED (REPL ROUND END SECT)		5.000 EA	0.01000	0.05	100.00000	500.00	150.00000	750.00
0280 E536322503 END ANCHOR ASSEM FLARED (REPL BUFFER END SECT)		5.000 EA	0.01000	0.05	100.00000	500.00	250.00000	1,250.00
0285 E536322506 END ANCHOR ASSEM FLARED (REPL GUARDRAIL BEAM)		10.000 EA	0.01000	0.10	250.00000	2,500.00	500.00000	5,000.00
0290 E536322508 END ANCHOR ASSEM FLARED (REPL TIMBER BREAK POST)		20.000 EA	0.01000	0.20	175.00000	3,500.00	150.00000	3,000.00
0295 E536322517 END ANCHOR ASSEM FLARED (REPL SHORT TIMBR BREAK POST)		20.000 EA	0.01000	0.20	75.00000	1,500.00	150.00000	3,000.00



Tabulation of Bids

Letting: 01260219 February 19, 2026 Call Order: 004 Contract: E1Y36-R0

Line No / Item ID Item Description ( ) indicates item is bid as Lump Sum	Alternate	Quantity Units	(1) FLORIDA ROADWAY GUARDRAIL & SIG		(2) SOUTHEAST HIGHWAY GUARDRAIL & ATTENUATORS, LLC		(3) GRADING & BUSH HOG SERVICES IN	
			Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
<b>SECTION: 0001 (ASPHALT REPAIR (MANUAL) (TN)</b>								
0300 E536324506 END ANCHOR ASSEM PARALLEL (REPL GUARDRAIL BEAM)		10.000 EA	0.01000	0.10	250.00000	2,500.00	500.00000	5,000.00
0305 E536324517 END ANCHOR ASSEM PARALLEL (REPL SHORT TIMBR BREAK POST)		5.000 EA	100.00000	500.00	75.00000	375.00	150.00000	750.00
0310 E536325 1 END ANCHORAGE ASSEMBLY- SOFTSTOP, REPLACE IMPACT HEAD		3.000 EA	1,500.00000	4,500.00	550.00000	1,650.00	1,400.00000	4,200.00
0315 E536325 2 END ANCHORAGE ASSEMBLY- SOFTSTOP, REPLACE ANCHOR RAIL 12.5'		3.000 EA	500.00000	1,500.00	138.00000	414.00	500.00000	1,500.00
0320 E536325 3 END ANCHORAGE ASSEMBLY- SOFTSTOP, REPLACE SYSTEM RAIL 12.5'		3.000 EA	500.00000	1,500.00	50.00000	150.00	300.00000	900.00
0325 E536325 4 END ANCHORAGE ASSEMBLY- SOFTSTOP, REPLACE ANCHOR POST- POST 0		3.000 EA	300.00000	900.00	190.00000	570.00	0.01000	0.03
0330 E536325 5 END ANCHORAGE ASSEMBLY- SOFTSTOP, REPLACE SYT POST 4' 9.5"		3.000 EA	300.00000	900.00	50.00000	150.00	200.00000	600.00
0335 E536325 6 END ANCHORAGE ASSEMBLY- SOFTSTOP, REPLACE SYTP POST 6'		3.000 EA	200.00000	600.00	75.00000	225.00	150.00000	450.00



Tabulation of Bids

Letting: 01260219 February 19, 2026 Call Order: 004 Contract: E1Y36-R0

Line No / Item ID Item Description <i>( ) indicates item is bid as Lump Sum</i>	Alternate	Quantity Units	(1) FLORIDA ROADWAY GUARDRAIL & SIG		(2) SOUTHEAST HIGHWAY GUARDRAIL & ATTENUATORS, LLC		(3) GRADING & BUSH HOG SERVICES IN	
			Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
<b>SECTION: 0001 (ASPHALT REPAIR (MANUAL) (TN</b>								
<b>0001 ASPHALT REPAIR (MANUAL) (TN</b>								
<b>Section Totals:</b>				<b>\$196,955.12</b>		<b>\$324,435.65</b>		<b>\$481,551.98</b>
<b>Contract Grand Totals:</b>				<b>\$196,955.12</b>		<b>\$324,435.65</b>		<b>481,551.98</b>



Tabulation of Bids

Letting: 01260219 February 19, 2026 Call Order: 004 Contract: E1Y36-R0

Line No / Item ID Item Description <i>( ) indicates item is bid as Lump Sum</i>	Alternate	Quantity Units	(4) C. SLAGTER CONSTRUCTION, INC.		(5) ROMSTECH SERVICES LLC			
			Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
<b>SECTION: 0001 (ASPHALT REPAIR (MANUAL) (TN)</b>								
0005 0339 1 MISCELLANEOUS ASPHALT PAVEMENT		30.000 TN	150.00000	4,500.00	340.00000	10,200.00		
0010 0515 2311 PEDESTRIAN/ BICYCLE RAILING, ALUMINUM ONLY,42" TYPE 1		50.000 LF	150.00000	7,500.00	125.00000	6,250.00		
0015 0536 7 1 SPECIAL GUARDRAIL POST- DEEP POST FOR SLOPE BREAK CONDITION- TIMBER OR STEEL		50.000 EA	185.00000	9,250.00	200.00000	10,000.00		
0020 0536 7 3 SPECIAL GUARDRAIL POST- ENCASED POST FOR SHALLOW MOUNT		5.000 EA	250.00000	1,250.00	175.00000	875.00		
0025 0536 85 20 GUARDRAIL END TREATMENT- TRAILING ANCHORAGE		10.000 EA	1,600.00000	16,000.00	1,750.00000	17,500.00		
0030 0536 85 24 GUARDRAIL END TREATMENT- PARALLEL APPROACH TERMINAL		10.000 EA	4,000.00000	40,000.00	3,900.00000	39,000.00		
0035 0536 85 26 GUARDRAIL END TREATMENT- TYPE CRT		10.000 EA	2,500.00000	25,000.00	3,250.00000	32,500.00		
0040 0544 3 1 CRASH CUSHION, TL-3, NARROW		2.000 EA	27,500.00000	55,000.00	29,000.00000	58,000.00		



Tabulation of Bids

Letting: 01260219 February 19, 2026 Call Order: 004 Contract: E1Y36-R0

Line No / Item ID Item Description ( ) indicates item is bid as Lump Sum	Alternate	Quantity Units	(4) C. SLAGTER CONSTRUCTION, INC.		(5) ROMSTECH SERVICES LLC			
			Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
<b>SECTION: 0001 (ASPHALT REPAIR (MANUAL) (TN)</b>								
0045 0544 3 2 CRASH CUSHION, TL-3, WIDE		2.000 EA	42,000.00000	84,000.00	34,200.00000	68,400.00		
0050 E536 3141 GUARDRAIL STANDARD PANEL (REPLACE) (SHOP BENT)		50.000 LF	35.00000	1,750.00	15.75000	787.50		
0055 E536 3142 GUARDRAIL STANDARD PANEL (REPLACE) (0' - 50')		1,200.000 LF	20.00000	24,000.00	12.25000	14,700.00		
0060 E536 3143 GUARDRAIL STANDARD PANEL (REPLACE) (51' - 200')		1,000.000 LF	16.00000	16,000.00	12.25000	12,250.00		
0065 E536 3144 GUARDRAIL STANDARD PANEL (REPLACE) (> 200')		700.000 LF	13.00000	9,100.00	12.25000	8,575.00		
0070 E536 3242 GUARDRAIL THRIE BEAM (REPLACE) (0' - 50')		25.000 LF	20.00000	500.00	27.50000	687.50		
0075 E536 5 3 THRIE BEAM (TRANSITION SECTION)		5.000 EA	250.00000	1,250.00	725.00000	3,625.00		
0080 E536 6 48 END ANCHORAGE ASSEM (REPLACE) (TYPE SRT-350)		5.000 EA	3,000.00000	15,000.00	2,300.00000	11,500.00		
0085 E536 6414 END ANCHORAGE ASSEM (REPLACE) (TYPE SRT-350/8)		5.000 EA	3,000.00000	15,000.00	1,300.00000	6,500.00		



Tabulation of Bids

Letting: 01260219 February 19, 2026 Call Order: 004 Contract: E1Y36-R0

Line No / Item ID Item Description ( ) indicates item is bid as Lump Sum	Alternate	Quantity Units	(4) C. SLAGTER CONSTRUCTION, INC.		(5) ROMSTECH SERVICES LLC			
			Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
<b>SECTION: 0001 (ASPHALT REPAIR (MANUAL) (TN)</b>								
0090 E536 6423 GUARDRAIL END TREATMENT-FLARED APPROACH TERMINAL, REPLACE, NCHRP 350		10.000 EA	3,500.00000	35,000.00	3,700.00000	37,000.00		
0095 E536 6424 END ANCHORAGE ASSEM (REPLACE) (PARALLEL)		10.000 EA	3,500.00000	35,000.00	3,900.00000	39,000.00		
0100 E536 6425 GUARDRAIL END TREATMENT-FLARED APPROACH TERMINAL, REPLACE, MASH		10.000 EA	3,500.00000	35,000.00	4,150.00000	41,500.00		
0105 E536 12605 GUARDRAIL REPAIRS (REPLACE) (STEEL POST IN ASPH.)		200.000 EA	95.00000	19,000.00	178.00000	35,600.00		
0110 E536 12606 GUARDRAIL REPAIRS (REPLACE) (STEEL POST IN SOIL)		200.000 EA	95.00000	19,000.00	145.00000	29,000.00		
0115 E536 12608 GUARDRAIL REPAIRS (REPLACE) (WOOD POST IN ASPH.)		200.000 EA	75.00000	15,000.00	130.00000	26,000.00		
0120 E536 12609 GUARDRAIL REPAIRS (REPLACE) (WOOD POST IN SOIL)		200.000 EA	75.00000	15,000.00	105.00000	21,000.00		
0125 E536 12615 GUARDRAIL REPAIRS (REPLACE) (FILLER BLOCKS)		100.000 EA	20.00000	2,000.00	19.00000	1,900.00		



Tabulation of Bids

Letting: 01260219 February 19, 2026 Call Order: 004 Contract: E1Y36-R0

Line No / Item ID Item Description ( ) indicates item is bid as Lump Sum	Alternate	Quantity Units	(4) C. SLAGTER CONSTRUCTION, INC.		(5) ROMSTECH SERVICES LLC			
			Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
<b>SECTION: 0001 (ASPHALT REPAIR (MANUAL) (TN)</b>								
0130 E536 15 MISCELLANEOUS GUARDRAIL MAINTENANCE		500.000 LF	4.00000	2,000.00	2.40000	1,200.00		
0135 E536 21501 END ANCHORAGE ASSEMBLY FLEAT SP, FURNISH & INSTALL, FIRST POST UPPER		5.000 EA	175.00000	875.00	205.00000	1,025.00		
0140 E536 21502 END ANCHORAGE ASSEMBLY FLEAT SP, FURNISH & INSTALL, FIRST POST LOWER		5.000 EA	175.00000	875.00	405.00000	2,025.00		
0145 E536 21503 END ANCHORAGE ASSEMBLY FLEAT SP, FURNISH & INSTALL, SECOND POST UPPER		5.000 EA	420.00000	2,100.00	185.00000	925.00		
0150 E536 21504 END ANCHORAGE ASSEMBLY FLEAT SP, FURNISH & INSTALL, SECOND POST LOWER		5.000 EA	150.00000	750.00	175.00000	875.00		
0155 E536302505 END ANCHOR ASSEM TYPE IV (REPL CABLE ASSEMBLY)		5.000 EA	50.00000	250.00	275.00000	1,375.00		
0160 E536302506 END ANCHOR ASSEM TYPE IV (REPL STEEL TUBE & POST)		5.000 EA	100.00000	500.00	400.00000	2,000.00		
0165 E536302508 END ANCHOR ASSEM TYPE IV (REPL TIMBER BREAK POST)		5.000 EA	130.00000	650.00	200.00000	1,000.00		



Tabulation of Bids

Letting: 01260219 February 19, 2026 Call Order: 004 Contract: E1Y36-R0

Line No / Item ID Item Description ( ) indicates item is bid as Lump Sum	Alternate	Quantity Units	(4) C. SLAGTER CONSTRUCTION, INC.		(5) ROMSTECH SERVICES LLC			
			Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
<b>SECTION: 0001 (ASPHALT REPAIR (MANUAL) (TN)</b>								
0170 E536303503 END ANCHOR ASSEM CRT (REPL BUFFER END SECTION)		5.000 EA	250.00000	1,250.00	250.00000	1,250.00		
0175 E536303508 END ANCHOR ASSEM CRT (REPL TIMBER BREAK POST)		5.000 EA	130.00000	650.00	150.00000	750.00		
0180 E536308501 END ANCHOR ASSEM SRT-350 (REPL CABLE ASSEMBLY)		5.000 EA	25.00000	125.00	250.00000	1,250.00		
0185 E536308504 END ANCHOR ASSEM SRT-350 (REPL BEARING PLATE)		20.000 EA	20.00000	400.00	50.00000	1,000.00		
0190 E536308507 END ANCHOR ASSEM SRT-350 (REPL BUFFER END SECT)		20.000 EA	150.00000	3,000.00	220.00000	4,400.00		
0195 E536308511 END ANCHOR ASSEM SRT-350 (REPL GUARDRAIL BEAM)		20.000 EA	375.00000	7,500.00	275.00000	5,500.00		
0200 E536308514 END ANCHOR ASSEM SRT-350 (REPL SLOT GUARD)		20.000 EA	60.00000	1,200.00	60.00000	1,200.00		
0205 E536308517 END ANCHOR ASSEM SRT-350 (REPL BRK TRM POST SLV)		5.000 EA	200.00000	1,000.00	110.00000	550.00		
0210 E536313508 END ANCHOR ASSEMBLY SKT-350 (REPL GUARDRAIL BEAM)		5.000 EA	325.00000	1,625.00	300.00000	1,500.00		



Tabulation of Bids

Letting: 01260219 February 19, 2026 Call Order: 004 Contract: E1Y36-R0

Line No / Item ID Item Description ( ) indicates item is bid as Lump Sum	Alternate	Quantity Units	(4) C. SLAGTER CONSTRUCTION, INC.		(5) ROMSTECH SERVICES LLC			
			Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
<b>SECTION: 0001 (ASPHALT REPAIR (MANUAL) (TN)</b>								
0215 E536313509 END ANCHOR ASSEMBLY SKT-350 (REPL MISC HARDWARE)		10.000 EA	150.00000	1,500.00	220.00000	2,200.00		
0220 E536313514 END ANCHOR ASSEMBLY SKT-350 (REPL IMPACT HEAD)		10.000 EA	1,625.00000	16,250.00	1,250.00000	12,500.00		
0225 E536314501 END ANCHOR ASSEM SRT-350/8 (REPL CABLE ASSEMBLY)		10.000 EA	25.00000	250.00	270.00000	2,700.00		
0230 E536314504 END ANCHOR ASSEM SRT-350/8 (REPL BEARING PLATE)		10.000 EA	20.00000	200.00	55.00000	550.00		
0235 E536314505 END ANCHOR ASSEM SRT-350/8 (REPL TIMBER BRK POST)		10.000 EA	150.00000	1,500.00	148.00000	1,480.00		
0240 E536316501 END ANCHOR ASSEMBLY FLEAT-350 (REPL TMBER BRKWAY POST)		5.000 EA	100.00000	500.00	180.00000	900.00		
0245 E536316503 END ANCHOR ASSEMBLY FLEAT-350 (REPL CABLE ANCHOR ASSY)		5.000 EA	50.00000	250.00	240.00000	1,200.00		
0250 E536316504 END ANCHOR ASSEMBLY FLEAT-350 (REPL GROUND STRUT)		5.000 EA	125.00000	625.00	200.00000	1,000.00		
0255 E536316505 END ANCHOR ASSEMBLY FLEAT-350 (REPL BEARING PLATE)		10.000 EA	20.00000	200.00	163.00000	1,630.00		



Tabulation of Bids

Letting: 01260219 February 19, 2026 Call Order: 004 Contract: E1Y36-R0

Line No / Item ID Item Description ( ) indicates item is bid as Lump Sum	Alternate	Quantity Units	(4) C. SLAGTER CONSTRUCTION, INC.		(5) ROMSTECH SERVICES LLC			
			Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
<b>SECTION: 0001 (ASPHALT REPAIR (MANUAL) (TN)</b>								
0260 E536316509 END ANCHOR ASSEMBLY FLEAT-350 (REPL MISC HARDWARE)		10.000 EA	100.00000	1,000.00	215.00000	2,150.00		
0265 E536316514 END ANCHOR ASSEMBLY FLEAT-350 (REPL IMPACT HEAD)		5.000 EA	1,400.00000	7,000.00	1,100.00000	5,500.00		
0270 E536322501 END ANCHOR ASSEM FLARED (REPL FLARED END SECT)		5.000 EA	225.00000	1,125.00	190.00000	950.00		
0275 E536322502 END ANCHOR ASSEM FLARED (REPL ROUND END SECT)		5.000 EA	150.00000	750.00	190.00000	950.00		
0280 E536322503 END ANCHOR ASSEM FLARED (REPL BUFFER END SECT)		5.000 EA	150.00000	750.00	250.00000	1,250.00		
0285 E536322506 END ANCHOR ASSEM FLARED (REPL GUARDRAIL BEAM)		10.000 EA	150.00000	1,500.00	275.00000	2,750.00		
0290 E536322508 END ANCHOR ASSEM FLARED (REPL TIMBER BREAK POST)		20.000 EA	0.01000	0.20	180.00000	3,600.00		
0295 E536322517 END ANCHOR ASSEM FLARED (REPL SHORT TIMBR BREAK POST)		20.000 EA	0.01000	0.20	170.00000	3,400.00		
0300 E536324506 END ANCHOR ASSEM PARALLEL (REPL GUARDRAIL BEAM)		10.000 EA	350.00000	3,500.00	225.00000	2,250.00		



Tabulation of Bids

Letting: 01260219 February 19, 2026 Call Order: 004 Contract: E1Y36-R0

Line No / Item ID Item Description <i>( ) indicates item is bid as Lump Sum</i>	Alternate	Quantity Units	(4) C. SLAGTER CONSTRUCTION, INC.		(5) ROMSTECH SERVICES LLC			
			Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
<b>SECTION: 0001 (ASPHALT REPAIR (MANUAL) (TN)</b>								
0305 E536324517 END ANCHOR ASSEM PARALLEL (REPL SHORT TIMBR BREAK POST)		5.000 EA	100.00000	500.00	170.00000	850.00		
0310 E536325 1 END ANCHORAGE ASSEMBLY- SOFTSTOP, REPLACE IMPACT HEAD		3.000 EA	1,500.00000	4,500.00	600.00000	1,800.00		
0315 E536325 2 END ANCHORAGE ASSEMBLY- SOFTSTOP, REPLACE ANCHOR RAIL 12.5'		3.000 EA	350.00000	1,050.00	250.00000	750.00		
0320 E536325 3 END ANCHORAGE ASSEMBLY- SOFTSTOP, REPLACE SYSTEM RAIL 12.5'		3.000 EA	125.00000	375.00	90.00000	270.00		
0325 E536325 4 END ANCHORAGE ASSEMBLY- SOFTSTOP, REPLACE ANCHOR POST- POST 0		3.000 EA	475.00000	1,425.00	225.00000	675.00		
0330 E536325 5 END ANCHORAGE ASSEMBLY- SOFTSTOP, REPLACE SYT POST 4' 9.5"		3.000 EA	200.00000	600.00	120.00000	360.00		
0335 E536325 6 END ANCHORAGE ASSEMBLY- SOFTSTOP, REPLACE SYTP POST 6'		3.000 EA	200.00000	600.00	105.00000	315.00		
<b>0001 ASPHALT REPAIR Section Totals: (MANUAL) (TN)</b>				<b>\$570,800.40</b>		<b>\$612,155.00</b>		



Tabulation of Bids

Letting: 01260219 February 19, 2026 Call Order: 004 Contract: E1Y36-R0

Line No / Item ID Item Description <i>( ) indicates item is bid as Lump Sum</i>	Alternate	Quantity Units	(4) C. SLAGTER CONSTRUCTION, INC.		(5) ROMSTECH SERVICES LLC			
			Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
<b>Contract Grand Totals:</b>				\$570,800.40		\$612,155.00		



Tabulation of Bids

---

**Letting:** 01260219 February 19, 2026 **Call Order:** 004 **Contract:** E1Y36-R0

*NOTE: Failure to file a protest within the time prescribed in section 120.57(3), Florida Statutes, or failure to post the bond or other security required by law within the time allowed for filing a bond shall constitute a waiver of proceedings under chapter 120, Florida Statutes.*